
ASSEMBLY INSTRUCTIONS

N707P233741 ; N707P233742 ;
N707P233743 ; N707P233744 .

8PCS SOFA SET

01 - 27



02 - 27

K1

L

A

G1

S

S S

S

C1 D

K1  

L

B

G2

S

SS

S

C2F

L

K2

S
S

J

S
S

D

H

X3
F

Left Corner Right Corner

Armless Chair



03 - 27

I
I

L

X Z

G3

K1

T
U

11 12

12

V

Y

Y

W

I
I

P E N

M O

R

Q

18

X2

Table   

Rolling Chair



Box 1/4: N707P233741

Box 2/4: N707P233742

CARTON CONTENT:

C1    x1 J    x3 K1    x3

T    x2

G1   x1

H    x3  I    x4

04 - 27

 S    x20

G2   x1 G3   x2

K2    x3



Box 3/4: N707P233743

Box 4/4: N707P233744

CARTON CONTENT:

A    x1 B    x1 D    x4

L    x1
X    x2 Z    x2

F    x4

Hardwares   

E    x1 K1    x1 L    x6

W    x2 Y    x4

M    x1 N    x1 O    x1 P    x1

Q    x1 R    x1 U    x2 V    x2

05 - 27

C2    x1



HARDWARES:

1

 

M6x45mmM6x35mm

Allen Wrench

Nuts M6

Wrench M6
(1 pc) (2 pcs) 

Bearing Base
(2 pcs) 

Sway Bar
(8 pcs) 

Springs Washers M8

M6x20mm

Flat Washers M8

Nuts M8

Wrench M8
(1 pc) 

(48 pcs) (38 pcs) (18 pcs) 

 

M6x120mm
(6 pcs) 

(41 pcs) (28 pcs) 

(80 pcs) 

(40 pcs) 

Flat Washers M6
(157 pcs) 

2 3 4

9 10 11 12

13 14 15 16

5 6 7 8

M8x35mm
(28 pcs) 

M8x50mm
(8 pcs) 

Plastic Shackle
(6 pcs) 

17

Air Lifter 160N

18

(1 pc) 

19

06 - 27

(5 pcs) 

Plastic Washers
M6 - 5mm

20

Screw M6x45 mm
with Hexagon Head

(8 pcs) 



STEP 2

STEP 1
3  x6

9  x6

2  x24

 9  x24  

Armless Chair: Connect The Seat (J) & Backrest (H) With Allen Wrench (14)

x3
J

H

9

3

3

9

Connect The Right Side Frame (D) & Left Side Frame (F) With Allen Wrench (14)

F

F D

9

9

2

2

2

9

2

9

x3

07 - 27



STEP 4

STEP 3

Connect the wooden Legs (S) With Wrench M6 (15)

100%

x3

x3

L

K2

Use the plastic hook of the cushion
stick the cushion with the rattan seat

S

7

7  x24

Tighten All Bolts And Nuts With Allen Wrench (14) and Wrench M6 (15)
then Put the Seat Cushion (K2) and Back Cushion (L) onto the Chair

100%

08 - 27

9

9  x24



STEP 6

STEP 5
3  x2

9  x2

3  x4

 4  x1

Left Corner: Connect The Seat (C1) & Backrest (G1) With Allen Wrench (14)

Connect The Left Arm (A) With Allen Wrench (14)

C1

G1

3

9

3

9

A
 9  x5

4 9

09 - 27



STEP 8

STEP 7
2  x4

9  x4

Connect The Right Side Frame (D) With Allen Wrench (14)

A
D

9

2

2

9

Connect the wooden Legs (S) With Wrench M6 (15)

7  x8

10 - 27

S

79

9  x8



STEP 9

100%

Tighten All Bolts And Nuts With Allen Wrench (14) and Wrench M6 (15)
then Put the Seat Cushion (K1) and Back Cushion (L) onto the Corner

100%

K1

L

STEP 10
3  x2

9  x2

C2

G2

3

9

Right Corner: Connect The Seat (C2) & Backrest (G2) With Allen Wrench (14)

11 - 27



STEP 11

Connect The Right Arm (B) With Allen Wrench (14)

3  x4

 4  x1
3

9

B
 9  x5

49

STEP 12
2  x4

9  x4

Connect The Left Side Frame (F) With Allen Wrench (14)

B
F 

9

2

2

9

12 - 27



STEP 13

Connect the wooden Legs (S) With Wrench M6 (15)

7  x8

STEP 14

100%

Tighten All Bolts And Nuts With Allen Wrench (14) and Wrench M6 (15)
then Put the Seat Cushion (K1) and Back Cushion (L) onto the Corner

Done

100%

K1

L

13 - 27

S

79

9  x8



STEP 16

STEP 15
2  x2

2  x3

 9  x3 

9  x2

Table: Connect The Table Top (Q) & Back Frame (O) With Allen Wrench (14)

Connect Frame (M) With Allen Wrench (14)

O

Q

2

9

2

9

MO

2

9

2
9

14 - 27



STEP 18

STEP 17

2  x3

 9  x3 

19  x1

Connect The Table Lid (P)

Connect Frame (N) With Allen Wrench (14)

P 19

M

P

M

N

P

P

N

19

9

2

9

2
 19  x1 

15 - 27



STEP 20

STEP 19
9  x2

2  x6

20  x2

Connect The Table Bottom (E) and 2x Table’s Legs (I) With Allen Wrench (14)

Connect The Part of Step 18 and The Part of Step 19 With Allen Wrench (14) 

100%E

9

9

20

20

9

E

9

2

2

9  x6

9

9

2

2

I

I

16 - 27



STEP 22

STEP 21
9  x2

20  x2

Connect The Whole Frame and 2x Table’s Legs (I) With Allen Wrench (14)

50%

E

20

9

I

I

Connect The Whole Frame and 2x Remaining Table’s Legs (I) With Allen Wrench (14)

9  x4

20  x4

17 - 27

20

9



STEP 24

STEP 23
1  x2

7  x1

Connect The Air Lifter (18) (E) With The Allen Wrench (14) and Wrench M6 (15)

9  x1

18  x1

19  x3

100%
100%

Tighten All Bolts And Nuts With Allen Wrench (14) and Wrench M6 (15)

18 - 27

1

18

18

19

18

1

19

7 9



STEP 26

STEP 25

Put the Wooden Top (R) onto the Table

Rolling Chair: Connect the Seat (T) and the Backrest (G3) With Allen Wrench (14)

Done

R

x2
50%

G3

T3

9

3  x4

9  x4

19 - 27



9

STEP 28

STEP 27

x2
50%

50%
x2

3  x8

4  x2

Connect the Left Arm (X) With Allen Wrench (14)

X

39

X

49  x10

3  x8

4  x2

9  x10

Connect the Right Arm (Z) With Allen Wrench (14)

Z

Z

9
3

9

4

20 - 27

9
3

3

9



STEP 30

STEP 29

x2
100%

100%
x2

1  x16

Connect the Base (V) and Long Frame (W) and Short Frames (Y) With Allen Wrench (14)

9  x16

5  x4

8  x4

V

Y

Y

W

1

9

1

9
9

1

1

9

10  x8

5

10

10
8

Connect the Long Frame (W) and Short Frames (Y) With Allen Wrench (14) and Wrench M8 (16)

100%

21 - 27



STEP 32

STEP 31

x2
100%

100%

x2
5  x8

Connect the Bearing Base (11) With Allen Wrench (14) and Wrench M8 (16)

8  x8

6  x8

8  x8

10 x24

Connect the Rolling Frame (U) and Sway Bars (12) With Allen Wrench (14) and Wrench M8 (16)

8

5

10

10 x16

11  x2

11
100%

U

10

8 6

12

13

100%

12  x8

13  x16

Note:

RIGHT 

22 - 27



Note:

The Sway Bars (12) have to be assembled with the correct direction

RIGHT 

WRONGx
23 - 27



13  

10

5

12  

STEP 34

STEP 33

x2
100%

100%

x2
5  x8

Connect the PARTS IN STEP 31 and STEP 32 With Allen Wrench (14) and Wrench M8 (16)

8  x8

5  x8

10  x16

13 x24

10 x16

100%

100%

5

10

8

Connect the PARTS IN STEP 28 and STEP 33 With Allen Wrench (14) and Wrench M8 (16)

24 - 27



STEP 36

STEP 35

100%

x2

17  x2

100%

Connect 2 Armless Chairs together with Plastic Shackles (17)

Tighten All Bolts And Nuts With Allen Wrench (14) and Wrench M8 (16)
then Put the Seat Cushion (K1) and Back Cushion (L) onto the Chair

Done

L

K1

17

25 - 27



STEP 37

Connect Armless Chairs and Right Corner and Left Corner together with Plastic Shackles (17)

17  x4

17

Adjust pre-installed Levellers
Height for Balance

STEP 38

26 - 27



STEP 39

Finished

27 - 27


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	6: hardware
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	14: bàn
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27

